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GUI_golsec

— ANrOpMTM 30N0TOr0 CEYEHUA

@) if (f1=12)
() then a=x1

@ x1=x2; f1=12;

(7) x2=a+tau*(b-a)

©) f2=f(x2)

() else b=x2

) x2=x1; f2=f1

(7) x1=a+(1-tau)*(b-a)
@) f1=f(x1)

— OYHKUMA

@) x1=a+(1-tau)*(b-a); f1=f(x1);x2=a+tau*(b-a); f2=f(x2); | exfl

= 0.5-x*exp(-x"2)

‘ Start ’

Step

‘ MepeunyHblit rpaduk

PesyneTaT
‘7 xmin

fmin
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GUI_golsec

— ANrOpMTM 30N0TOr0 CEYEHUA

@) if (f1=12)
() then a=x1

@ x1=x2; f1=12;

(7) x2=a+tau*(b-a)

©) f2=f(x2)

() else b=x2

) x2=x1; f2=f1

(7) x1=a+(1-tau)*(b-a)
@) f1=f(x1)

— OYHKUMA

@) x1=a+(1-tau)*(b-a); f1=f(x1);x2=a+tau*(b-a); f2=f(x2); | exfl

= 0.5-x*exp(-x"2)

‘ Start ’

Step

(=) 1
W

1

‘ MepeunyHblit rpaduk

115 2

PesyneTaT
‘7 xmin

fmin




Cnaung

36

GUI_golsec

— ANrOpMTM 30N0TOr0 CEYEHUA

) if (f1=f2)

(") then a=x1

() x1=x2; f1=12;
() x2=a+tau*(b-a)

(7) x1=a+(1-tau)*(b-a)
) f1=f(x1)

— OYHKUMA

@) x1=a+(1-tau)*(b-a); f1=f(x1);x2=a+tau*(b-a); f2=f(x2); | exfl

= 0.5-x*exp(-x"2)

0 —

0 0.5

‘ Start ’

Step

(=) 1
W

1

‘ MepeunyHblit rpaduk

PesyneTaT
‘7 xmin

fmin
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GUI_golsec

— ANrOpMTM 30N0TOr0 CEYEHUA

) if (f1=f2)

(") then a=x1

() x1=x2; f1=12;
() x2=a+tau*(b-a)

(7) x1=a+(1-tau)*(b-a)
) f1=f(x1)

— OYHKUMA

@) x1=a+(1-tau)*(b-a); f1=f(x1);x2=a+tau*(b-a); f2=f(x2); | exfl

= 0.5-x*exp(-x"2)

0 1

X 1
W

A
=r

0 0.5

‘ Start ’

Step

1

‘ MepeunyHblit rpaduk

PesyneTaT
‘7 xmin

fmin




Cnang 38

GUI_golsec

— ANrOpMTM 30N0TOr0 CEYEHUA

| if (f1=12)

| then a=x1

| x1=x2; f1=12;
() x2=a+tau*(b-a)
| f2=f(x2)

| glse b=x2

%N D % % % % D ™

©) x2=x1; f2=F1
() x1=a+(1-tau)*(b-a)

@ f1=f(x1)

— OYHKUMA

@) x1=a+(1-tau)*(b-a); f1=f(x1);x2=a+tau*(b-a); f2=f(x2); | exfl

= 0.5-x*exp(-x"2)

0 1

i 1

0 0.5

[ Start ’

Step

=X

1

‘ MepeunyHblit rpaduk

115 2

PesynbTar
‘7 xmin

fmin
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GUI_golsec

— ANrOpMTM 30N0TOr0 CEYEHUA

| if (f1=12)

| then a=x1

| x1=x2; f1=12;
() x2=a+tau*(b-a)
| f2=f(x2)

| glse b=x2

() x2=x1; f2=11
(7) x1=a+(1-tau)*(b-a)
@ f1=f(x1)

— OYHKUMA

@) x1=a+(1-tau)*(b-a); f1=f(x1);x2=a+tau*(b-a); f2=f(x2); | exfl

= 0.5-x*exp(-x"2)

0 1

i 1

0 0.5

‘ Start ’

Step

=X

1

‘ MepeunyHblit rpaduk

115 2

PesyneTaT
‘7 xmin

fmin
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GUI_golsec

— ANrOpMTM 30N0TOr0 CEYEHUA

) if (f1=f2)

(") then a=x1

() x1=x2; f1=12;
() x2=a+tau*(b-a)

(7) x1=a+(1-tau)*(b-a)
) f1=f(x1)

— OYHKUMA

@) x1=a+(1-tau)*(b-a); f1=f(x1);x2=a+tau*(b-a); f2=f(x2); | exfl

= 0.5-x*exp(-x"2)

‘ Start ’

Step

i

‘ MepeunyHblit rpaduk

PesyneTaT
‘7 xmin

fmin
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— ANrOpMTM 30N0TOr0 CEYEHUA

) if (f1=f2)

(") then a=x1

() x1=x2; f1=12;
() x2=a+tau*(b-a)

(7) x1=a+(1-tau)*(b-a)
) f1=f(x1)

— OYHKUMA

@) x1=a+(1-tau)*(b-a); f1=f(x1);x2=a+tau*(b-a); f2=f(x2); | exfl

= 0.5-x*exp(-x"2)

‘ Start ’

Step

MepeunyHblit rpaduk

PesyneTaT
‘7 xmin

fmin
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GUI_golsec

— ANrOpMTM 30N0TOr0 CEYEHUA

) if (f1=f2)

(") then a=x1

() x1=x2; f1=12;
() x2=a+tau*(b-a)

(7) x1=a+(1-tau)*(b-a)
) f1=f(x1)

— OYHKUMA

@) x1=a+(1-tau)*(b-a); f1=f(x1);x2=a+tau*(b-a); f2=f(x2); | exfl

= 0.5-x*exp(-x"2)

‘ Start ’

Step

MepeunyHblit rpaduk

PesyneTaT
‘7 xmin

fmin
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GUI_golsec

— ANrOpMTM 30N0TOr0 CEYEHUA

| if (f1=12)

| then a=x1

| x1=x2; f1=12;
() x2=a+tau*(b-a)
| f2=f(x2)

| glse b=x2

() x2=x1; f2=11
(7) x1=a+(1-tau)*(b-a)
@ f1=f(x1)

— OYHKUMA

@) x1=a+(1-tau)*(b-a); f1=f(x1);x2=a+tau*(b-a); f2=f(x2); | exfl

= 0.5-x*exp(-x"2)

‘ Start ’

Step

MepeunyHblit rpaduk

PesyneTaT
‘7 xmin

fmin
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GUI_golsec

— ANrOpMTM 30N0TOr0 CEYEHUA

@) if (f1=12)

() then a=x1

® x1=x2; f1=12,

(7) x2=a+tau*(b-a)

@ f2=f(x2)

() else b=x2

) x2=x1; f2=f1

(7) x1=a+(1-tau)*(b-a)
@) f1=f(x1)

— OYHKUMA

@) x1=a+(1-tau)*(b-a); f1=f(x1);x2=a+tau*(b-a); f2=f(x2); | exfl

= 0.5-x*exp(-x"2)

‘ Start ’

Step

1

‘ MepeunyHblit rpaduk

115

PesyneTaT
‘7 xmin

0.70513 | fmin

0.071121




Peaynbratbl paboTbl NporpamMmbl
xmin =0.70513
fmin = 0.071121



CamocTtosaTenbHas paboTa

1. CosgaTb hann — pyHKUMIO
function [xmin,fmin] = myGoldsec(f,a,b)

2. Co3patb drann-gyHKUUIO
exf1.m

3. Cosgartb script —dpann doavn
test myGoldsec.m

4. 3anyCctnTb N NPOBEPUTDL
pesynsrar
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ObpalleHne K ctTaHgapTHOM
nporpamMmme

[xmin,fmin] = fminbnd('exf1',a,b)
'Find minimum of single-variable function on fixed
interval

min f(x) such that x; < x < x.
x

X, X3, and x, are scalars and f{x) is a function that returns a scalar.

Syntax
X = fminbnd(fun,xl,x2)
X = fminbnd(fun,xl,x2,options)

X = fminbnd(prcblem)

[%,£fval] = fminbnd(...)
[x,£fval,exitflag] = fminbnd(...)
[x,£fval,exitflag,ocutput] = fminbnd(...)

xmin= 0.7071
Pesynbrar fmin=0.0711



